ASSISTANT DIRECTOR (Rf%‘?’ﬂ%ﬁm&’ ghATE OF ECONOMIC AND
STATISTICS

Examination held on 21-09-2023 (AN)
Specific Paper (Paper - 2) (Subject Code: 554) (Computer Science)
KEY CHART

Question Booklet Series - 'R’

Total Marks : 300 3 Marks for each question
Question Key Question Key Question Key Question Key
Number Answer Number Answer Number Answer Number Answer

1 3 26 3 51 1 76 4
2 4 27 2 52 1 77 2
3 4 28 1 53 2 78 1
4 1 29 1 54 3 79 Z
5 1 30 2 55 3 30 4
6 4 31 2 56 1 81 3
T 4 32 4 o7 3 82 2
8 3 33 1 58 3 83 3
9 3 34 4 59 4 34 4
10 1 35 2 60 3 85 4
11 1 36 3 61 4 86 4
12 4 37 1 62 2 87 2
13 2 38 ¥ 63 2 38 4
14 2 39 4 64 1 89 4
15 2 40 1 65 1 90 1
16 3 41 3 66 4 91 4
17 2 42 2 67 4 92 1
18 1 43 1 68 1 93 1
19 2 44 1 69 4 94 3
20 4 45 3 70 1 95 4
21 3 46 1 71 4 96 3
22 1 47 3 72 1 97 2
23 2 48 3 73 3 98 1
24 4 49 1 74 1 99 1
25 1 50 2 75 2 100 4

Note: Every question for which wrong answer has been given by the candidate, % th (0.25) of the
marks assigned for that question will be deducted.
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1. The apex body of International
Monetary Fund (IMF) is the

(1) Executive Board

(2) Managing Director
(3) Board of Governors

‘________’,..’—'
(4) Government

2. Match List—I with List—IT :

List—I List—IT
(i) Free trade (a) No restriction
area on trade and
factor
movement
(i) Customs (b) Trade is free
union and no
customs
duties
(iii) Common (c) No customs
market duties but
duties on
nonmember
(iv) Economic (d) Advanced
union stage of
integration

Choose the correct answer
from the codes given below :

(0 @ (@ (@)
(1) (b) (a) (c) (d)
(2) (c) (b) (d) (a)
3) (b) (¢ (a) (d)
4) (@ (¢ (d) (b)

/555-R

(3)

3. Read the following and find out
which pair is not correctly
matched :

Exchange Explanation
rate type

(1) Exchange rate  Price of one
currency in

terms of
another
(2) Pegged Reasonably
exchange good idea
rate about

exchange rate

(3) Flexible Less certainty
exchange rate in exchange
rate
(4) Forward Reduced
exchange certainty in
market the market

4. When devaluation causes the
Balance of Payments to
worsen in the beginning and
then improves, it is called

(1) monetary effect

(2) J-curve effect

(3) Linear curve effect
(4) Marginal effect

[P, TS0
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5. Consider the following pairs :
Concept Policy

(i) Exit Policy = Foreign  Trade
Policy

(ii) FEMA Foreign
Exchange Market

(iif) SLR Monetary Policy
(iv) FRBM World Trade
Organization

How many pairs given above

are correctly matched?

(1) One pair only

(2) Two pairs only

(3) Three pairs only

(4) All pairs

/555-R

(5)

6. Match List—I with List—II :

List—I List—I
(i) Free Trade (a) Freedom of trade
area and common
tariff policy with

non-members

(i) Customs (b) Highest level of
Union integration, there

is monetary and

fisecal unification

(i) Common ~ (c) Group of Nations
Market having no trade
restrictions

among the
members

(iv) Economic (d) Features of free
Union trade area and
free movement
of labour and

capital

Choose the correct answer
from the codes given below :

0 @ (@ (@)
(1) (@) (a) (B) (c)
(2) (¢ (a) (d) (b)
B) (@ (¢ (d) (b)
4 ®) (d) (o) (a)

[P.T.O.
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8. Match List—I with List—II :

7. Match List—I with List—II :

List—I List—II
(a) Weight basis
of metallic

content

(i) Mint Parity
theory

(i) Purchasing (b) Differential

power parity purchasing
theory power

(iii) Balance of (c) Demand and

Payments supply of
theory foreign
exchange

Choose the correct answer

from the codes given below :

@ (@ ()
(1) (@) (b) (c
(2) () (a) (c
3) (c) (a) (b)

4) @) (o (4
/555-R

(7)

List—I

(1) Correlation

(ii) Regression

(iii) Index
numbers

(iv) Dispersion

List—II

(a) Cause and

effect

(b) Relationship
of two
variables

(c) Changes in
the variables

(d) Variation in
the variables
to mean

Choose the correct answer
from the codes given below :

(1)

(i) (i) (i)

(1) (b) (a) (d) (c)

(2)

(b) (a) (c) (d)

B) (@) (b) (o) (d)

4) (a) (@) (c) (b)

[P.T.O.
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9. Consider the following

10.

statements :

Assertion (A) : The measures of
central tendency are not
adequate to describe data.

Reason (R): To describe
data, one needs to know the
extent of variability and this is
not provided by measures of
central tendency.

Choose the correct answer
from the options given below :

(1) Both Assertion (A) and
Reason (R) are true and
Reason (R) is the correct

explanation of Assertion
(A)

(2) Both Assertion (A) and
Reason (R) are true and
Reason (R) is not the
correct explanation of
Assertion (A)

(3) Assertion (A) is true, but
Reason (R) is false

(4) Assertion (A) is false, but
Reason (R) is true

The coefficient of correlation
(1) has no limits

(2) can be more than 1

(3) varies between (+/-)1

(4) is less than -1

/555-R

(9)

11. Stratified sample is preferred
where

(1) the population is perfectly
homogeneous/~

(2) the population is not
homogeneous

(3) random sampling is not
possible

(4) small samples are
required

12. Which among the following is
the definition of regression _

__slope coefficient? —

(1) It is the average change
in the dependent variable
for a unit change in the
independent variable

(2) It is the mean value of
dependent variable when

independent variable is 0
BT <

(3) Itis the portion of the total
variation in the
dependent variable that
is explained by its
relationship with the
independent variable

4 It measures the
dispersion of the
dependent variable about
its mean at each value of
the dependent variable in
the original units of the
dependent variable

Scanned by CamScanner



WWW.SHIKARAT.COM

15. @ SenS teeanva) W |

13. 39NT SRR Boeor s FODF? s 30O PuEeD 23
(i) 2SS SY, 3oe3, 3 e
(1) y=al+b+cx+d 213,08 ;
(ii) BS[3 DN DO :
(2) y=a+bx’ Z3oee AR CE BEOTORO N0 1
(iii) B0 73,08 —BFE Qed
) esmoon AR08 ¢ PTReT, Des *
(8) y=ax®+bx+c i @gjgswg‘;;;ﬁgeaén 003N
BR0DF0IPNG.?
(4) y=a-bx (1) ()
2) @
(3) (i)
14. Z $B0eg0300 eugamomaNT 4 (@)

16. Jeadg3 FO030F B, TR, %%m’@:ﬁo&i
a3, 03 21}, 59 FINT TELTNI),
N :

(i) ﬁa&g%@ﬁzﬂeéom STTO TONE
30RO @ﬁéﬁw@:ﬁmﬁma

(i) ROBRT, WSR3, 0000T 20T
DSODNED

(i) oF° NSTFBOW 0T WOT

S0RINH ﬁOdDFESF% EI'UE%F@@
F0DFR0T FE0DTNG.
(iii) BRE, SRRSO (i) TBHOWS ASSML R0, 0
oo FDO3F 23LDTLINY
(iv) RS IITHMN IBARINO RoeOT TORSNE Bo0DNFSY
RTRRTH.
Foeds TewINTE), 0SNT RO? (i) PRI BRITOB),
WeDWESFT TOIR)  WPTROF 0T
(1) () S (i) ST SRSy =N, iR,

WROTIOTD SPROZTI.

D0eOIPNTD C3nm Bewd  (NLD)
330

1) 3ezo (i)
(2) (i) D) (i) I3,
(3) Bez© (iii)
(4) (i) 0By (iti) I3,

(2) () SR (i) BRT,
(3) (i) 2 (ii) I3,

(4) () SR (iv) =,

/555-R (10)

Scanned by CamScanner



WWW.SHIKARAT.COM

13. Which of the following is a
quadratic function?

(1) y=aP+bx2+cx+d
(2) y=a+bx

B) y=a+bx+c

(4) y=a- bx

14. Z test holds good only for

(i) sample from the normal
population

(i) sample from F
distribution

(iii) large samples

(iv) samples for = Poisson
distribution B

—_—

Which of the above statements
are correct?

(1) (i) and (iii) only

(2) (i) and (i) only

(3) (i) and (iii) only

(4) (i) and (iv) only
/555-R

(11)

15. Consider the following pairs :
Usefulness in

Index
Policy
(i) Cost of ~ Dearness Allowance
living policy
(ii) Price/ Fiscal and monetary
inflation ~ policy
index
(iii) Literacy =~ Education policy
index
(iv) Crime Health policy
index

Which of the above pair is not
correctly matched?

(1) @
(2) (@
(3) (i)
4 (W)
16. Comprehend the following
statements about linear

programming problem :

f?i) The function which is
required to be maximized
or minimized is known as
an objective function.

The structural constraints
state the side conditions
on the different activities
of the problem.

The divisibility criteria
states that activity level can
take only integer values.

(i)

(iit)

Which of the above
statement(s) is/are false ?
(1) (i) only
(2) (i) and (ii) only
(3) (iii) only
(4) (i) and (iii) only
[P.-THO:
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(1) oeRpedordrs® (mesokurtic)
(2) SFpBorsrs (leptokurtic)
(3) =8 B33 (platykurtic)
(4) a‘%@eaﬁ: (symmetric)¢

(12)

20. TBNI, 038mond, AM W5, F
D) WRITENRY IR :a‘ouoqsaa%
J Sweed  YUIRTN

aﬁa‘aﬁmﬁd

(1) RooxD=2 5,08 — 3 FTRO
(2) wRFE=3 [P, 08 — 2 TR
(3) e, 08=3WBOFE — 2 FTIO
(4) RTRO=3 WO, 0% — 3 WROPT

21. 30030 25, TNITT WBOI 4 Bﬁcxg'i
BRAQLARO0ET® . &S =e003eRT’
F0wO&HEON0.

(1) 12
2) 10
(3) 16
4) -16

22 Sé.i-l 5.'& 5%—11 BROAT BROOY :

=t we3-II
( WEIT ooz (==F)
ETAVEY

() $.3. o  (a) 1993
(i) ©FTR (b) 1979
(i) S0RPV* 2012
(iv) Sonooz® (d) 2009

IO eBRIR e:eoi%ri@ocs pstelontpi
tmédﬁﬁ%{ =308

0 @ (@) (v)
1) (b) (a) (d) ()
2) b)) (@) (¢ (4
B) (@ (d) (a) (b)
@ (© @ b (@
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20. In a normal distribution, the
relation between AM, median
and mode is best expressed by

17. A negative coefficient of
skewness implies that

(1) 2231; is greater than 1) Mean = 2 Median -3 Mean

(2) Mode =3 Median — 2 Mean
(2) mean is less than mode, (3) Median =3 Mode — 2 Mean
(3) mean is equal to mode (4) Mean =3 Median — 3 Mode

4 i 1t di
(%) mean, 15 ‘eqa. 1o mekas 21. If mean is 25, Standard

_ : _ Deviation is 4, then find the
18. In hypothesis testing, which of coefficient of Variation.
the following defines the size

of power of the test? (1) 12
3 (2) 10
(1) 1- (Probability of
accepting null hypothesis () 16
when it is true) (4) —16
(2) 1- (Probability of | 22, Match List—I with List—II :
rejecting null hypothesis ) .
when it is true) List—I Lise—H
( Poverty ( Year )
(3) 1 - (Probability of Estimation
accepting null hypothesis Committee )
when it is false) () Y. K. Alagh (a) 1993
(4) 1 + (Probability of ..
Rl i) Lakd
rejecting null hypothesis ) s o "LRTR
when it is necessary) (iii) Tendulkar (c) 2012

19. When the measure of kurtosis (iv]) Rangarajan (d) 2009

is. .grea'ter_ than 3, the Choose the correct answer
distribution is from the codes given below :
(1) mesokurtic (W (@ (i) (iv)

(1) (b) (@) (d) (c)
2) (b) (a) (c) (d)
B) (¢ (d) (a) (b)
(4) symmetric @) () ) (b) (a)
SR 113) [P.T.O

(2) leptokurtic
(3) platykurtic
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26. OO C3REEFERY FOBTHE

NABARD 3 T

(1) =g 12, 1982

(2) ©nx 18, 1983

(3) =o¢§ 10, 1991

(4) =g 8, 1990

WWOTT[eF  odemSadn CYTIE,
ROWORAT?

(1) mo0ee &,Be3w NapRaly -y
Q03T 3.

(2) GEOR @ - Qo
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DOTEERID

PROSEY, - 2020-215¢).
SEeplelapaRaUphlay BAZ

(1) 260-3 QODHT L3R
(2) 2852 QODHT LBTFR
(3) 2967 D0OHT LR

(4) 3086 OHF BTN

W0
e

(14)

27.

28.

(3) Fe3o (i)

(1) £0.0%°. D0
(2) . .JTD
(3) & =N 00003089 BNOFT*

(4) OB M0R

153¢ @re5oRd SO3RENT ST FTO
(1) Sonoox* :
(2) Dwod® FewT

(3) @98, A0

(4) .9. 88 |

TOR 0 wIFoaos, Red (2000) N

JOWODATOS B3 é@ﬁs@ﬁeﬁx‘.\%{

RONIN

(i) 20508 =3nn mmowaé
%@eﬁdw

() %BFE3T T,3TF

(iii) Sesmo 508, A0YE
BOTODRY AR
(iv) BeZo3zNn BT ,9

MITTEY mmwa&
306%03 ﬁ@ﬁéﬁ VPRI

ﬁoee‘.’)a@ﬁ@@m @3.:‘% ©03  (nh)
3@_;\&/5?

(1) 3ezmo (i)
(2) () 2 (i) Sws,

@) (), (i), (i) 252 (iv) 4
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i was
23. Establishment of NABARD 26. The Gandhian plan

was done on presented by

(1) M. N. Roy

(1) July 12, 1982 2) J. L. Nehru

(2) August 18, 1983 (3) Shriman Narayan Agarwal

(3) July 10, 1991 (4) Mahatma Gandhi

(4) July 8, 1990 27. The Chairman of th.e 15th
Finance Commission 18

. arajan
24. BharatNet project is related to (1) C.Rangaraj
(2) Vijay Kelkar
(1) free Wi-Fi to students in (3) N.K. Singh

a rural area
4) Y. V. Reddy

(2) high speed internet to

farmers 28. With regard to the National
Population  Policy  (2000),
(3) broadband connectivity to consider the following :

Gram Panchayats . . .
(i) Population stabilization

. , till 2050.
(4) a project connecting a
rural area with an urban (i) Universal immunization.
area (i) To achieve 50 percent
institutional deliveries.
25. Total foodgrains production in (iv) Reduction of infant
India in 2020-21 was mortality rate below 30

per thousand live births.

(1) 260-3 million tonnes :
How many of the above point(s)

is/are incorrect?
(2) 285-2 million tonnes 4 / ec

(1) (i) only
(3) 296-7 million tonnes (2) (i) and (i) only
(3) (iii) only
(4) 308-6 million tonnes @) (i), (i), (ii) and (iv)
/555-R (15) (P.T.O.
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(1) 2eSneo - %mai - B,
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ERes 31. 90, Bowe BSeD 08y s/
Red 03RR?
1) Bewd(A) 32 5880 (R) 0TS
(1) Bewd(A) =2 300 (R) = () wom> aoscd YR o3
Fo0InnE =02y 20rR (R, eafriod e
2002 (A) o FOOIRE DT = |
03PN (i) ™IS SRIODI), YA
BRHRT.
| I |
(2) Beod(A) 3y I (R) H0ER ) ;:;?mn i’“’;ofzfdmd |
Bo0inNE =ad 00w (R), ' Uy
=33
B (A) o FooInRT e e
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(1) Ee3o (i)

(3) @ewd (A) RO, &3 O (R)
e
% @) () =3 (i) 323,
(4) Bewd(A) 2 w6 (R) HFSER B) (i) 5% (i) =g,
= @) o8 oume
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29. Consider the following

statements :

Assertion (A) : There are signi-
ficant changes in India’s
economic structure.

Reason (R): There are chang-
es in sectoral distribution of
income in favour of tertiary
sector.

Choose the correct answer
from the options given below :

(1) Both Assertion (A) and
Reason (R) are true and
Reason (R) is the correct
explanation of the
Assertion (A)

(2) Both Assertion (A) and
Reason (R) are true but
the Reason (R) is not the
correct explanation of the
Assertion (A)

(3) Assertion (A) is true, but
Reason (R) is false

(4) Both Assertion (A) and
Reason (R) are false

(17)

30. Which one of the following is

31.

the correct sequence in the

decreasing order of
contribution of different
sectors to GDP of India?

(1) Services — Industry -
Agriculture

(2) Services - Agriculture -
Industry

(3) Industry — Services —
Agriculture

(4) Industry — Agriculture -
Services

The main objective(s) of
Minimum Support Prices is/
are to

(i) check fall in price beyond
a limit
(i) protect interest of the

consumers

(i) make procurement from
the wholesalers easy

Choose the correct answer
from the options given below :

(1) (i) only

(2) (i) and (i) only
(3) (i) and (iii) only
(4) All of the above

[P.T.O.
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SZIFT* LT oiRTY S (2D)
eTo1J) PLBAT SEOAT. &)

(1) 623, BIRoaR,TR, 335,

23eRF B UNROTITORF

(2) ©QF33, wSToaR, TR, IS,

TPTF SO WDANOTFTOF

(B) ©RFTS, IV, T, ﬁga’ﬁ@ :

SUPTVIOL WIB) BARLFFOF T

(4) ©QFIS, WINCTYTT, 555% :

TRRT DB BUROIRTODFF

TROFLIBT BSRFTSN FOWORAR0S T3
FINS TewFNYIY, TONeIA ¢

() 2011-12 20T BJIFWT =R
Aplorte cloplnnlovely)
ABRTTING.

2011-12 00T FIFET W2
RTIST ZeRTOOR)
BRI
2011-12
BTRTOOR)
SRTIODYOS &fbaéd

2011-12 dom@ BmoFedw 0=
IRTBT SRTONT) BST.

BoedT OIRT Bewdnrzd IOTPNT :
(1)
(2)
(3)
(4)

00T TIFEITL
o030

(iit)

(iv)

330 (i)
3RO (ii)
FeT© (iii)
(i) B3 (iv) Ins,

(18)

34.

35.

36.

0021-22 T SQFE gaoed, T,

FoF ks TORT 3ePSBTIOD

(1) ¥2,22,002
2) % 2,36,451 ~
B) ¥3,7L,771 #

(4) ¥2,78,786

2021-22 T BoF3Bn SOFIIN
BesTd [OONT BRTWON

(1) 53-8%

(2) 57-2%
(3) 61-6%

(4) 66'1%

TOFWBIE  Remm00T
BRY,TYS T 2020-2138¢,
(1) 63:3%
(2) 647%
(3) 66:3%
(4) 672%
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34. As per the Economic Survey

32. Atmanirbhar Bharat Abhiyan
is based on which of the five
basic components?

(1) Economy, Demography,

(2)

(3)

(4)

System, Demand and
Infrastructure

Economy, Demography,
System, Supply and
Infrastructure

Economy, Demography,
System, Savings and
Infrastructure

Economy, Demography,
System, Investment and
Infrastructure

33. With reference to the economy
of Karnataka, consider the
following statements :

(1)

(i)

(i)

()

The per capita incomes of
Karnataka and India are
equal since 2011-12.

The per capita incomes of
Karnataka and India are not
increasing since 2011-12.

The per capita income of
Karnataka is increasing
than India’s per capita
income since
2011-12,

The per capita incomes of
Karnataka and India are
increasing since 2011-12.

Which of the above statements
are correct?

(1)
(2)
(3)
(4)
/555-R

(i) only

(ii) only

(iii) only

(iii) and (iv) only

(19)

2021-22, Per Capita Income
of Karnataka State was

(1) ¥2,22,002
(2) T2,36,451
(3) ¥3,71,771
(4) T2,78,786

35. The contribution of service

36.

sector to the economy of
Karnataka in 2021-22 was

(1) 53-8%
(2) 57-2%
(3) 61-6%
(4) 66:1%

The share of service sector in
gross  value added to
Karnataka in 2020-21 was

(1) 63-3%
(2) 647%
(3) 66:3%
(4) 672%

[P. T80}
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The total amount allocated by
the 15th Finance Commission
to rural local bodies for the
year 2021-22 is
(1) Zilla Panchayats (10%),
Taluk Panchayats (15%),
Gram Panchayats (75%)
(2) Zilla Panchayats (10%),
Taluk Panchayats (10%),
Gram Panchayats (80%)
(3) Zilla Panchayats (5%),
Taluk Panchayats (10%),
Gram Panchayats (85%)
(4) Zilla Panchayats (5%),
Taluk Panchayats (5%),
Gram Panchayats (90%)

Which of the following is

incorrect about the literacy rate

of Karnataka as per Census 20117

(1) The total literacy rate of
Karnataka is 75-36%

(2) Itis greater than the average
literacy rate of India

(3) Female literacy rate is
greater than male literacy
rate in Karnataka

(4) Female literacy rate is
around 68% in Karnataka

In which year was the Krishi
Aranya Prothsaha Yojana
introduced in the Karnataka

State?

40. According to the NITI Aayog

41.

India Innovation Index, 2022,
Karnataka ranks

(1) first

(2) fifth

(3) eighth
(4) seventh

rural
the

With reference to
development, . consider
following statements :

(i) The total central budget
expenditure on education
is more than the health
sector for the last seven

years.

(i) The total central budget
expenditure on education
is less than the health
sector for the last seven
years.

(i) The total central budget
expenditure on education
is equal to the health
sector for the last seven

years.

Which of the above statements
is/are correct?

(1) () only
(2) (i) and (iii) only

(1) 2009
g; ggéé (3) (i) and (iii) only
@) 2015 (4) (i), (i) and (iii)

/555-R (21) [P.T.O.
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42. According to 2011 Census of | 43. Consider  the  following
Karnataka, consider the statements regal'dlng_ Co-
following pairs : operative Banks in India :

- . kS
(i) Co-operative Ban
Gansus Sika operate on no profit—
(i) Highest sex Udupi no loss basis.

(i) Co-operative Banks are
allowed to operate only in
in the State the agriculture sector.

(i) NABARD is a Co-
operative Bank.

ratio district

(i) Lowest sex Bangalore (R)

ratio district Choose the correct answer

in the State from the options given below.

(1) (i) and (iii) only

(i) Highest Bangalore (U) ) (i) only
literacy (3) (i) only
district in (4) All of the above
the State

44, Who introduced the Zamindari

(iv) Lowest Raichur System?
(1) William Bentinck

(2) Lord Minto
(3) John Shore
(4) Lord Cornwallis

literacy
district in

the State

How many pairs given above

are correctly matched? 45. In which year was
Swarnjayanti Gram Swarozgar
(1) one pair only Yojana introduced?
| (1) 1979
(2) two pairs only
(2) 1999
(3) three pairs only (3) 2001
(4) All four pairs (4) 2000
/555.R (23) [P.T.O.
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46. Movement along a demand
curve implies

(1) extension in demand
(2) contraction in demand

(3) extension and contraction
in demand

(4) increase in demand

47. With reference to the market
equilibrium, consider the
following statements :

(i) Short-run
perfect
MC = MR.

equilibrium of
competition is

(i) Short-run equilibrium of
perfect competition is that
MC should cut MR from
below.

(i) Short-run equilibrium of

perfect competition is that
MR should cut MC from

below.

Which of the above statements
are correct?

(1) (i) and (i) only

(2) (i) and (iii) only

(3) (i) and (iii) only

(4) (i), (i) and (iii)
/555-R

(25)

48. Match List—I with List—II :

List-I List-IT

(i) Indifference (a) Point of
tangency of a
budget line on
an indifference

curve

curve
(ii) Budget (b) Various
line combinations of

factors which a
firm can buy
with the same

outlay
(i) Consumer (c) Various
equilibrium combinations of
two
commodities

providing equal
satisfaction to
consumer

(d) Various
combinations
that a
consumer can
purchase

(iv) Isocost
curve

Choose the correct answer
from the codes given below :

@ @ (@ (W)
(1) (@) (b) (o) (d)
(2) (b) (a) (d) (c)
() (d) (¢ (a) (b)
(4) (¢) (d) (a) (b)

[P.T.O.

Scanned by CamScanner



WWW.SHIKARAT.COM

49. S0IReNcd 3 ROFTMOD

(1)

(2)

(3)

(4)

3e3 Bea3030 ﬁmmﬁa
35, Beadosom, BBFATRN

33 Beadc3n ’&?a‘aﬁoeﬁd
5@6@&30&3@3{ ot3zson

ﬁmmﬁé @w8,0ealodn WS
Seadodd ﬁoe@m@ﬁ

Wooaey,  ®WE,0es0i0 WY
Besjodd F¥NTHN

50. 8e0,600 GUZR S APTEO?

(1)

(2)

(3)

(4)
/555-R

Dfa%eoi) Slaples®

3D e3TTORN

AWBDF  DRBUWDVTOD 3D

(26)

0 dzj
51. DeTFRPOP N0
0w, SUER T

583003 PNAEANG:
) am  BeREs B
NOﬂgﬁandJ m&‘zdwabﬂt

238, mécﬁ
(i) AT &s@‘oaﬂ@oda Xoo%0 ST
gdeafﬁdraoaﬁ pstob wozbrie;

:gp%fmﬁd.
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350300323
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(1) (1) SRy (il) SR, |
(2) (i), (@), (@) =02 (W)
(3) (i), (ii) 022 (iit) BRS, '
@) (), (i) DR (iv) SN |
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49. Consumer satisfaction will be
maximum when

price line is tangential to
the indifference curve

(1)

price line crosses the

indifference curve

(2)

indifference curve is

above the price line

(3)

indifference curve is

below the price line

(4)

50. Which of the following is the

better measure of welfare?

National Income

(1)

(2) Per Capita Income
(3) Per Capita Disposable
Income
(4) Gross National Product
/555.R

(27)

51. The long-run average cost
he total cost divided

(i) is t
by the level of output.

(i) depicts the least possible
levels of output.

(i) is the locus of tangency
points with short-run
average cost curves.

(iv) is also called a plant

curve.

Which of the above statements
are correct?

(1) (i) and (ii) only
(2) (i), (@), (iii) and (iv)
(3) (i), (ii) and (iii) only

(4) (i), (i) and (iv) only
52. Consider the following pairs :
Economists Works
(a) Adam — The Wealth of
Smith Nations
(b) David — On the Principles
Ricardo of Political
Economy and
Taxation
(c) T.R. — Essay on the
Malthus Principle of
Population

(d) Karl Marx — Das Kapital

How many pairs given above
are correctly matched?

(1)
(2)
(3)
(4)

One pair only
Two pairs only
Three pairs only
All four pairs

[B.To.
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(3) FoFOZmING,

(2) (a) (d) (b) (c)+ @) Y sy oo

3) ) (d) (o (a) T

4) (d) (c) (b) (a).
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nge‘ddgt 302 ¢

57. 3 39N 03D TO @R?
(@) M;=C+DD+0D
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zuw% piecnlovelaias)
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em'gfdﬁaigt 303 :

39N eokeos FOcIRE LU3TERY,

&=0A 1

(1) (@), (b): () (@) (1) (@) (b) 5% (e) S8

(2) (d), (b); (¢) (@) (2) (a), (b) S0 (d) =S,

@) (@) (@), B), v B) (@) (b) B (c) Ine

(4) (o), (b), (@), (d) " (4) (a), (d) =52 (e) =53,
(28)
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(ii) Gold,
(it]) Water, Air

(iv) Furniture,

54. Arrange the

WWW.SHIKARAT.COM

3. Match List—I with List—II :

List-I List-II

(i) Ragi, Jowar (a) Luxury goods
(b) Durable goods
Diamond

(c) Necessary
goods

(d) Free goods
Fans

Choose the correct answer
from the codes given below :

(0 @ @ (w)

(1) (¢ (a) (d) (b)
(2) (@) (d) (b) (c)
B @®) (d) (¢ (a)
4) (@) (c) (b) (q)

following in
chronological order :

(a) Arrow’s social welfare

function.

(b) Bergson-Samuelson social
welfare funection

(c) Pareto optimality

(d) Cardinal social welfare
function

Choose the correct answer
from the options given below :

1) (@), (b), (o), (d)
@) (@), @), (c), (&)
@) (@), (d), (b), (c]
4) (c), (), (@), (d)

55.

56.

57.

Who is the father of general
equilibrium?

(1) Leéon Walras

(2) William Stanley Jevons
(3) Carl Menger

(4) Pareto

Given that good X lies on
x-axis and good Y lies on
y-axis. If income consumption
curves bend towards x-axis, it
implies

(1) good X is inferior

(2)

(3) Indeterminate
()

good Y is inferior

good Y is superior

Which of the following are

correct?

(@) M;=C+DD +OD

(b) M, =M, + saving deposit
with post office savings

bank

(c) Mgz =M, + net time deposit
of banks

(d) Mgz =M, + net time deposit
of banks

() M, =M, +total deposits
with the post office
savings

Choose the correct answer
from the options given below :

(1) (a), (b) and (e) only
(2) (@), (b) and (d) only
(3) (@), (b) and (c) only
(4) (a), (d) and (e) only

/555-R (29) [P.T.O.
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61.

62,

2 OnC T0 =RRTOD Wekdaty :
25 FYNT HTTD £503NYY. MQBQ
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(ii) 119,®T0 5739030
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58. Irving Fisher’s equation 1S
(1) MV=PT
kR
2) P=—
(2) i
@) p=t
KT
n
4) P=—
(4) a

59. Stagflation means

(1) unemployment along with
a high rate of inflation

(2) full employment along with
a high rate of inflation

(3) disguised unemployment
along with a high rate of
inflation

(4) underemployment along
with a high rate of
inflation

60. The deficiency of aggregate
demand during depression
leads to

(1) seasonal unemployment
(2) voluntary unemployment

(3) involuntary
unemployment

(4) frictional unemployment
/ SSS-R (31)

61.

62.

According to Keynfass,
investment demand d.epen
on which of the following two

factors?
(i) Rate of investment
(i) Income of consumer
(i) Marginal efficiency of
capital
(iv) Marginal propensity to
consume
Choose the correct answer
from the options given below :
(1) (i) and (V) only
(2) (i) and (i) only
(3) (i) and (iir) only
(4) (i) and (iv) only

Read the following statements
about the concept of National
Income Accounting :

(i) National accounts
estimate the value of
output, expenditures and
incomes earned.

(i) This is calculated over a
specified period, usually
a year.

(i) Indian National Accounting
follows the system

adopted by the United
Nations.

Which of the above statements
are true?

(1) (i) and (ii) only
(2) (i), (ii) and (iii)
(3) (i) and (iii) only
(4) () and (iii) only
[ P. T: O}
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63. Consider the following 65. Match List—I with List—II :
statements about quantity
theory of money : List-I List-II

(i) The transaction velocity

approach was given by (i) New classical (a) Franko

Irving Fisher. Economics Modigliani &
R. Brumberg
(i) Cash Balance approach is
also known as Oxford )
approach. (i) New (b) Milton
Keynesian Friedman
(iii) Quantity theory of money Economics
makes out price level as
a function of demand for
money. (ii) Permanent  (c) N. Gregory
income Mankiw
Which of the above hypothesis
statement(s) is/are not
D
corract: (iv) Life cycle (d) Robert Lucas
(1) () only hypothesis
(2) (ii) only Choose the correct answer

from the codes given below :
(3) (iii) only

(4) Both (ii) and (i) N @ @@ ()
64. Disposable Income (DI) is (1) (d) (¢ (b) (a)
equal to
(1) Personal Income — Personal
i @ (@ ® © @

(2) Consumption + Savings
3) (b) (¢ (a) (d)
(3) Both (1) and (2)

(4) Neither (1) nor (2) 4) (d) (b) (c) (a)

/885-R (33) [P.T.O.
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66. 22.8.2. TNTE FowoRAWES, 67. TINT oeBNI) TONA !
FENT BELBRTIY, Safelato N

ZoEOS QTSR
)
2,00 TRFBY, VS 30IRNOD 3030 odpensd 5%,
ROBRESNG SPYHI) BAS | £5QTEINTIR)TO

HENEY. BT SRBOMITT.
T

(ii) BeaB9ST R, PY;FOID,

(@) Fw N8 20T 0w 5083 Zor, weRFN0S
STFBEY, PVUBSERRT ROB- ORTTINTITT
JeSne BPe, B a0 |
PETE) Sads sREobES: | gy ane B0V TR

Boomowd AR NI

(iii) 0T TRBT B.8.2. I3 R

DOTT 20T PRFTY,
PUBSCIRMOE  ROBY  Be@ne (iv) WoBY WOTY BRRTOT
[P, W) 4T HISNFY TR ACTRO3 TBF DTS w0y T
SRBOMZT. BT

DoeIT TewENTS 0N TO? RS QeRTO DT, WeedNH

RAOCIRN BROTEIBOIRTOBS?

(1) (1) S0 (ii) =93,
(1) oz Eeed =S,

(2) (i) o=y (iti) Sw
) ({) S0 (i) Ss, (2) 0@ Eeeanwd SR,

(B) () &3 (iii) In3, (3) S Heeanw Ing,
4 (D), (@) 3 (iii) (4) oo Beeansd
/555-R (34)
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66. With
calculation
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reference to GDP
consider the

following statements :

()

(i)

(tit)

Nominal GDP is the value
of goods and services
produced in a year and
measured in current
prices.

Real GDP is the value of
goods and services
produced in a year and
measured in fixed prices.

is the
and

Estimated GDP

value of goods
services produced in a
year and measured in

fixed prices.

Which of the above statements
are correct?

(1)

(2)

(3)

(4)

/555-R

(i) and (ii) only

(ii) and (iii) only

(i) and (iii) only

(i), (i) and (ii)

(35)

67. Consider
pairs :

Concept

(i) Inflationary —
gap

(ii) Deflationary —
gap

(iii) Stagflation —

(iv) Marginal —
Efficiency
of Capital

the following

Explanation

Excess of
planned
expenditure
over the
available
output

Aggregate
supply is in
excess of
aggregate
demand

Combination of
deflation and
unemployment

The profit or
reward expected
from capital
investment

How many pairs given above
are correctly matched?

(1) One pair

only

(2) Two pairs only

(3) Three pairs only

(4) All pairs

[P.T.O.
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68. Match List—I with List—II :

(iv) Samuelson’s (d) Based on the

theory of interaction
List—I List—II business between the
(i) Keynes’ (a) 1t is the cycle mlziltlpller
theory of interaction 2::]c elerator by
business between the choosing
cycle multiplier and certain values
accelerator of marginal
that gives rise propensity to
to eyclical consume and
fluctuations capita’- ;
: . output ratio
in economic
activity Choose the correct answer
from the codes given below :
(i) Hawtrey’s (b) The changes
theory of in the level of i) (@ (@) ()
business aggregate
cycle effective (1) (a) (b) (o) (d)
demand will |
bring about (2) () (¢ (d) (a)
fluctuations
in the level of 8) (@ (a) () (c)
income,
S\ut and 4) (¢ (d) (a) (b)
employment.
(iii) Hick’s theory (c) His monetary i Four' importax}t s W
taxation was given by
of business theory of
cycle business (1) David Ricardo
cycles relates
to the (2) Adam Smith
economy
which is (3) Mahalanobis
under gold
standard. (4) Arthur Laffer
/885-R (37) [P.T.O.
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70. Tools of expansionary fiscal

71.

/555.R

policy include

(i) raising Government
expenditure

(i) reducing Government
expenditure

(iii) increasing tax rate

(iv) reducing tax rate

(v) increasing money supply
Choose the most appropriate
answer from the options given
below :

(1) (i) and (iii) only

(2) (i) and (iv) only

(3) (ii) and (iii) only

(4) (ii) and (iv) only
Development that meets the
needs of the present without
compromising the abilities of

future generations to meet
their own needs is

(1) the tragedy of commons
(2) sustainable development
(3) net primary productivity

(4) the impossibility theorem

(39)

72. Harrod-Domar model of
growth is based on the

concepts of ____ and their

equality.

(i) Population and
productivity growth.

(i) Investment and average
growth rate of income.

(i) Actual, warranted and
natural growth rate.

(iv) Productivity growth and
investment growth.

Choose the correct answer

from the options given below :

(1) (i) and (ii) only

(2) (iii) and (iv) only

(3) (iii) only

(4) (iv) only

73. According to Rostow, a rise in
the rate of productive
investment from say S percent
or less to over 10 percent of
national income and the
development of one or more
substantial ~ manufacturing
sectors, with a high rate of
growth the stage of economic
growth that the economy is
passing through is

(1) pre-conditions of take-off
(2) take-off
(3) drive to maturity

(4) age of high mass
consumption

[P.T.O.
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75.
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78.

/555-R

(40)

(Robert M. Solow)

(4) = & VD NOIXT I
(John Fei and Gustay
Ranis)
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74. A technique in which larger
amount of labour is combined
with a smaller amount of
capital is denoted as

(1) labour-intensive
technology

(2) capital-intensive
technology

(3) mixed technology

(4) All of the above

he approach of social

/dualism_is connected with

which of the following
countries?

(1) Indonesia

(2) UK
(3) Iran
(4) Pakistan

76. What was India’s Hunger
Index rank in 20227

(1) 95th
(2) 100th
(3) 107th
(4) 121st
/S55.-R (41)

77. Stages of growth model of
development was given by

(1) Walt W. Rostow
(2) W. Arthur Lewis
(3) Robert M. Solow
(4) John Fei and Gustav

Ranis

78. Consider the following
assumptions of the Solow
growth model :

(i) Labour force grows at a
constant rate.

(i) Production function relating
output to input exhibits
constant return to individual
factors.

(iii) Entire
invested.

savings are not

Which of the assumption(s) is/
are correct?

(1) (i) only
(2) (i) and (ii) only
(3) (i) and (iii) only

(4) (iii) only
[P.T.O.
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79. Which  of the following 81. Budget is an instrument of

statements is RGrPeE .
regarding the Human [1) menetaly peiey
Development Index? (2) fiscal policy

(i) The Human Development (3) commercial policy

Index (HDI) is a composite
index that measures the
average achievements in a

(4) money saving policy

country in three basic 82. Who propounded the
dimensions  of  human ptimum theory of population:
development. ) -
(1) Edwin Cannan
(i) The basic dimensions are a
long and healthy life, (2) T.R. Malthus
_knowledge and a decent (3) J.S. Mill

standard of living.

(1) (j only
(2) (ii) only

(4) Keynes

83. With reference to the public
finance, consider the following

(3) Both (i) and (i) statements :

(4) Neither (i) nor (i (i) Laffer curve is related to tax
rate and tax revenue.

80. What is Kuznets’ inverted-U
(i) Phillips curve is related to

hypothesis?
o unemployment and
(1) Inequality 1s more when -
you achieve more
economic development (iii) Isoquant curve is related to
. . consumption.
(2) Inequality increases as
starts Which of the above

the economy

developing in any country statements are correct?

(3) Inequality will be high in (1) (i) and (ii) only
the most underdeveloped )
economies (2) (i) and (i) only

(4) Inequality gets reduced in (3) (i) and (iii) only
the most underdeveloped
economies (4) (i), (ii) and (iii)

/555.R (43) [P.T.O.

Scanned by CamScanner



WWW.SHIKARAT.COM

84. Tt ) @1 BrodR EROOA:

Te3-1 Ze3-11
(X ] eJ
() noxy IR (a) 208 Do
BTRODD 33
(H) Sodnens 33 (b) mo,nixF
(i) 3o Bods  (c) wowR
() ooz, wdemess  (d) o7 et

Ry, BWRS
IV

IR QeRTOT ejcﬁ%ﬁe?ocs
VI TIL, SO

Q) (@ (i) ()
(1) (b) (d) (o (a)
(2) (¢ f(a) (d) (b)
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(1) 3ort =9
(2) 3,393
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(2) =,830F, STO msnmmai
3

(3]

(B) BaRHF R mcﬁmmqsmlu
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g4. Match List—I with Lis¢— gt -

List—I List—n

() Maximum (@) Erik Lindah]
Social
Advantage

(ii) Benefit (b) Wagner

Principle

iii) Incidence of (c) Dalton
taxation

(iv) Law of (d) Musgrave

increasing

State activities

Choose the correct answer
from the codes given below :

@ @ @ (v

(1) (b) (d) (¢ (a)

(2) (c) (a) (d) (b)

@) (¢ (b) (a) (d)

(4) (d) (a) (B) (c]
85. The allocation of resources

among industries and firms
are analyzed by the

(1) Theory of Pricing

(2) Theory of Distribution

(8) Theory of Production

(4) Theory of Consumption
/555.R

86. The principle of maximum
social advantage is concerned
__"__’-.-——'_‘———_-—-_-‘
with

(1) taxation only
(2) expenditure only
(3) public debt only

(4) Both taxation and public
expenditure

87. The consumption of public
goods is

ST 2N
(1) non-rival but excludable

(2) rival but non-excludable

(3) rival and excludable

(4) non-rival and non-
excludable
88.In an economy of two

individuals (A & B) and two
commodities (x and y), general
equilibrium of exchange is
reached, when

(1) MRTS,, =MRTS,,
(2) MRS, =P /P,
(3) (MRS,,),=(MRS,)z

(4) MRTS,=MRS,
[P.T.O.
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the following in

chronological order :

(1)

The Indirect Tax Enquiry

91. Match List—I with List—II :

List—I

(i) Stabilization (a)

List—I

The process

Committee (Jha function by which total
Committee). resources are
used is divided
(i) Tax Reforms Committee between
(Chellaiah Committee). private and
(i) Taxation Enguity social goods
Commission (Mathur (i) Market (b) Adjustment of
Committee). mechanism income and
wealth to ensure
(iv) The Direct Tax Enquiry conformance
Committee (Wanchoo with what
Committee). society
wx  gar : considers fair
) @ @ @@ ot Tt
2) (@) @ () (@ (iii) Allocation _ (c) Budgetary
e function policy used for
@ @ (@ () (@) usitatsiaing
4 @ () @ (@ &
employment,
- price check and
90. Which of the following is not economic
correctly matched? growth

(iv) Distribution (d)Invisible hands

(1) Social security measures
function of market forces

— Old age pensions <~
o Choose the correct answer
(2) Subsidies T from the codes given below :

Redistributive effect

@ @ (i) ()

3 ial infrastruct -
gl QEUEEEE
harvi] roadways (2) (d) () (b) (a)

development

_ 3) (@) (d) (c) (b)

(4) Jawahar Rojgar Yojana —
e ogramime @ © @ (@ o

/555_R (47) [P. T20.
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g2. Which one of the following is

not a method for redeeming
publiC debt?

(1)

(2)

(3)

(4)

93. In case of negative production

externality,
b

(1)

(2)

(3)

4)

/555.R

WWW.SHIKARAT.COM

Sinking fund
Capital levy

Terminal annuities

—

Grants-in-aid

the firm produces more
output than the social
optimum level

the firm produces less
output than the social
optimum level

the equilibrium output of
the firm is equal to the
social optimum

production i1s equal to
demand

(49)

94. Given

below are two
statements, one is labelled as
Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): A lumpsum
tax imposed on a monopolist
cannot be shifted to the

consumers.

Reason (R) : The lumpsum tax
becomes a part of its fixed cost
and it does not affect the
marginal cost of production.

In light of the above
statements, choose the most
appropriate answer from the
options given below :

(1) Both (A) and (R) are correct
and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are correct
but (R) is not the correct
explanation of (A)

(3) (A)is correct but (R) is not
correct

(4) (A)is not correct but (R) is
correct

[P.T.O.
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o (1) Bexo (1)
(1) 1990
(2) 1994 @) () == (i) Ing,
(3) 1998 (3) () 3y (iii) I,
(4) 2004 :
4) (), (i) 23 (iii
AR e (1), () S0 (i)

|

Scanned by CamScanner



96.

97.

WWW.SHIKARAT.COM

between

exports and imparts of goods
and services is called as

(1) Capital Account
(2) Foreign Reserve Account
(3) Current Account

(4) Foreign Trade Account

Which of the following nations
is a member of Asian
Development Bank (ADB)?

(1) Australia

(2) Russia

(3) Ukraine

(4) Iran

Who among the following

enunciated the concept of
single factoral terms of trade?
—_— ———

(1) Jacob Viner
(2) G.S. Donens

(3) Taussig

(4) J.S. Mill
98. NAFTA came into effect in
(1) 1990
(2) 1994
(3) 1998
(4) 2004
/5855.-R

(51)

99, Improvement in the Balance
of Payments deficit may be
“effected through

(i) import controls

(i) export promotion

(i) foreign exchange control
(iv) devaluation

Select the correct option from
the codes given below :

(1) (i), (it), (i) and (iv)
(2) (i) and (i) only

(3)  (iii) and (iv) only
(4) (i), (i) and (iii) only

100. Which of the following is/are
included in the Agreement on

Agriculture of the WTO?
e

(i Domestic support

(ii) Market access
(i) Export subsidies

Select the correct option from
the codes given below :

(1) (i) only
(2) (i) and (ii) only
(3) (ii) and (iii) only
(4) (i), (ii) and (iii)
[P.T.O.

Scanned by CamScanner




	d07cdaea075fdba96ee98a80609bddbfd511c7d1cedcc0fea4d44a1ffc56528e.pdf
	b48fd3b3a92f2eb64baa8348e8eb4c4a30e2278528ee711873cfebfb7b5d42c5.pdf
	0108e0b4dbaed9148e4534fa2ae5be2614d34aefb5b6c0182ba6da5d4c61ff63.pdf
	a9c26719e4d0b0430cf506daabfc6d7a9e8c974d4fc4d2253a7d771887f4de38.pdf
	0108e0b4dbaed9148e4534fa2ae5be2614d34aefb5b6c0182ba6da5d4c61ff63.pdf


